/DVIRB

3RPLHV]F]HQLH 5RINiDG  $ 7\J

7N
$QDI]D FKHPLFIQD VXURZFyZ NRVPHINFIQ\FK L

o NRVPHINNyZ GU .REF]J\N -RDQQD GU SRIGT\EVND
™ _IHiEIN %HDID $ N $ N6l $
.0 7/
ZJ KDUPRQRJUIDPX
N N
% $QDUID FKHPLFIQD VXURZFyZ NRVPHINFIQ\FK L $QDIID FKHPLFIQD VXURZFyZ NRVPHINFIQ\FK L
= NRVPHINNyZ GU .REF]J\N -RDQQD GU SRIGT\EVND NRVPHINNyZ GU .REF]J\N -RDQQD GU SRIGT\EVND
= _IHiEIN %HDID $ N $ N6l $ _IHiEIN %HDID $ N $ N6l $
N .0 7/ .0 7/
ZJ KDUPRQRJUIDPX ZJ KDUPRQRJUIDPX
N
3UDFRZQID G\SIRPRZD GU ™HVND ODiJRUIDID 7\J GU KDE
[a) ODUFLQIDN %HUQDUG 7\J GUKDE ORUJ\N 2FLHSD %DUEDUD SURI
8 8-" 7\G] $ 7\G] $ 7N $  7\J
= &/
T
N
$QDI]D LQVIUXPHQIDIQD GU *HADN .RUZIQ -U\VINQD $ $ &0
7\G]
$QDIID LQVIUXPHQIDIQD GU *IH{JDN
_RUZIQ .U\VINQD GU . REF]\N -RDQQD $
$ $ &0 /
£
= 7\J
a $QDU]D LQVIUXPHQIDIQD GU *H{]DN -RGZIQ .U\VINQD 7\J GU -REF]\N -RDQQD 7\J
N $ s 5 7V &0
L
7\G]
$QDIID LQVIUXPHQIDIQD GU *IH{JDN
_RUZIQ .U\VINQD GU . REF]\N -RDQQD $
$ $ &0 /
=
™
a) 7\G]
5 $QDIID FKHPLFIQD VXURZFyZ NRVPHINFIQ\FK L
o NRVPHINNyZ GU -REF]J\N -RDQQD $ $ $
> .6 /
7\G]
- $QDI]D FKHPLF]QD VXURZFyZ NRVPHINFQ\FK |

NRVPHINyZ GU -REFT\N -RDQQD $
6 /

$ -




